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1. The Candidate will be supplied with Question Booklet 15 minutes before commencement of

the examination.

2. This Question Booklet contains 150 objective type questions. Before answering, the
candidates are requested to check whether all the questions are in seriatim and ensure that
there are no blank pages / Questions in the question booklet. In case any defect is noticed, it -

shall be reported to the Invigilator within first 10 minutes and get it replaced with a new
same series Question Booklet. After 10 minutes of the commencement of the examination, it

will not be réplaced.
3. Each Question carry one mark (No negative mark will be deducted for the wrong answer).

4.  You must write your Register Number in the space provided on the top right side of this page

without fail. Do not write anything else in the Question Booklet.

5. Personalized OMR Answer Sheets of the Candidates will be supplied by the invigilator for
answering the Questions. If the OMR Answer Sheet, is in anyway defective, the same shall be
brought to the notice of the Inv1gllator immediately before shading, so as to supply a spare
OMR answer sheet.

6. Yoﬁ must write and shade your Question Booklet number in the space provided in the OMR
Answer Sheet without fail with Blue or Black Ball point pen only.
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PART A

Fill in the blank with a suitable preposition from the options :

The b

oys jumped ——— the tank.

W into ' (B) in

(C) over _ ‘ (D) between

Pick the right word for the space in the sentence :

Canl

borrow —————— books from the library?

(A) one | (B) all

(C) few y some

Pick the word that means “question and argue”:

M dispute (B) reject

(C) deny (D) refuse

Read the passage and choose the best answer for the question below :

“Every day the tide comes in twice and goes out twice, or, as we sometimes

say, it rises and falls. The cause of this rising and falling is the attraction of

the sun and moon on the oceans of the world”.

How do we describe the coming in of the tide?

(A) It enters the land (B) 1t falls
M It rises - (D) It withdraws
Out of the four alternatives, choose the one that can be substituted for the
givenwords/phrase.
A disease that affects a large number of people in an area at the same time
(A) Endemic @ Epidemic
(C) Infectious (D) Contagious
3 MHCO 3084
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10.

In the question, a set of four words are given, marked A, B, C and D. In each
set, a word has been spelt in four different ways. Choose the word correctly
spelt.

(A) grammer -(B) gramer
(C) gramar y grammar

Answer the following with suitable question tag.

Ravi played hockey, ————7?
(&)  did he? M didn’t he?
(C) does he? (D) doesn’t he?

Sherlock Holmes is a

character in fiction (P)

than any other character (Q)

more people (R)
perhaps known to (S)
The proper sequence should be :

w7 PSRQ (B) QRPS

(C) QSPR (D) RSQP

Read the following passage and choose the best answer for the question
below :

“Without a leader, men find it difficult to organize themselves; and without
men to support them, even the greatest leaders cannot carry out their plans.
. It 1s the combination of leader and people that brings success”.

(What, according to the passage, brings success?
(A) leader '
(B) people who support a leader

combination of people and a leader
(D) the greatest leaders

Choose the right word for the space in the sentence :

I have ears, s0o | —— hear. 7
(A) will - (B) could

y can (D) shall

MHCO 3084 4 A




11. Pick the correct passive voice sentence for the following :
| | (

She wrote a letter.

‘W A letter was written by her
(B) A letter had been written by her
(C) Aletter has been written by her

_ (D) A letter is written by her

12.  Fill in the blank with a suitable preposition :

She was playing —————— the evening.

(4) at | (B) for

M in (D) before

13. Supply the missing link for the following sentence :

The book —— I bought is missing. -
7 which (B) where
(C) how : | (D)  when

14. Pick the word that best describes a person of gentle nature :

merciful | (B) respectful

(A)
w kind ' (D) virtuous

15. Choose the correction for the word in italics 1n the sentence :

He had his dinner when the guests came in.

,g( was having (B) has

(C) 1s having (D) will have

A 5 MHCO 3084
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16. Choose the option that best describes the condition of the person in the

sentence :

He climbed the wall and sat there breathing heavily.

w exhaustion . (B) hopelessness
(C) excitement ’ (D) weakness

17. Choose the correct verb form of ‘walk’ for the space in the sentence :

. . i
1s a good exercise.

W Walking (B) To walk
(C) To have walked | (D) To be walking

18. Say which one of these explanations is correct :
W A washing machine is one that washes clothes
(B) A dancing master is one who dances
(C) A walking stick is one that walks |
(D) A dining hall is one that dines

19. Read the following sentences and choose the best question form for them :

My purse must be in the train. I must have dropped it there.

W Could I have dropped it there?

~ (B) Couldn’t I have dropped it there?
(C) Must I have dropped it there?
(D) Mustn’t I have dropped it there?

20. Choose one word from the options for the words in italics :

He has been doing nothing all morhing.

7 idle B) lazy

(C) wasting ‘ f (D) lethargic
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21. Choose the alternative that is closest in meaning to the word in capitals.:

IMAGINARY .
(A) realistic v (B) bleak

(C) trance . ﬁ dreamy

99.  Choose the alternative that is closest iri meaning to the word in capitals.

FASTEN - |
G affix ‘ ' (B) untie
(C) holder D) thin

23. Pick the right word for the space in the sentence :

A group of boys ————— library regularly.

(A) are visiting M is visiting

(C) . .visits . , - (D) visiting
24, ——— Kishore go temple daily?

(A) Do (B) Wil

(C) Can M -Doe's

25. 1agree ————— your opinion. . \
W with ®) for
C) to : (D) of
A ' 7 - MHCO 3084
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26.

27.

28.

29.

30.

31.

32.

33.

» PART B
SMUTHS) eaT (1Ppig &L Hengudled L Lbum b $LslpriLim 6

w (ol eubumeney (B) Sms@mer
(C) HmsCameneu ' (D) Smpworene
‘Qemevellen Gleebeus eream LML LGLMID SLOLIFTLOTL DTS 32085 LDW‘fBg;l'T
(A) el ewren (B) omisgen

y <D GILOET ' (D) FmDGH

Frélgw sTLLS el mgy QuDHD S6SEhT gD TErealler Lenl (i

(A) Gpurefmuub B) Lmeveld
©C) wleLandser w S EOTLIGHET
Cg.ssrréueuein setoTamrdlu|L_er LoglenT GlFemeui
(A)  Cseupd (B) sevw
©) g o y a;aﬂ];bg‘;f
SOIDE Hmisens Loeanen |
A)  @.uam S (B) sad
w QuisTHEe (D) Queref
< Slw Cardl ummerLw eurrHeny TS r&ES g ?
A4) smpHugsdr ' (B)  speuamievmed Gp(m
w QaaTgin UgSIT . (D) @ibl'é;]&réjemr'r
BHABMH eflersssHen < Afwur .
(A)  geaeweuwrt W@mu@@uqﬁ
(C) SHaunQysnsm D) ‘aﬁeﬁwnmr’r

58PS CFemed eI L) QumueT
(A) eu.su. LrEf&ESHD ‘ (B) @Qor.Q. CegyaQérener .
©) w.euggyrsaen _ J w Hm.e.5
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34.

35.

36.

37.

- 38.

39.

40.

2 wsarreilw GQFbGwmlaser

y gD, savdl(ms, Farb, erymub
(B) s, wsSen, Qemorefluib, S miflob

(C) s8I, o me, HCrsswb, Fand
(D) s, swevmeid, OsimiE, YICTERs

QApHBOSTNE eTamiLiid eT_HEESTens HI6
A)  npdomf srean (B) pifleven prepmm
©  uppremm J’ =eoran
‘QaGn @G mauCan Coeugy ' eremm Gwmihbgeu
A)  idEsT iE@TeRTTSIENT (B) Hm.el.s

W Sower D) Bmeaudresa
Qurmsswrer Qeaaranils GCare Celis
(A) Csflwub srgg Qb - QumeEsssSyenmi

M QUGS SRS -~ Gogred
(C)  wyrligw eSyi : - w.Gurd

- (D) umeuCGemy ' - Seos
Qpéd @GSHd Gumgt UM ULHID LT , _
B @hsiuT 6 ®) sbzoun0
(C) @wYLum_ @ cueTemeTLILm_(H)
‘psHCM 2 @G’ GTE@ILD (Ppig b Gmatley ‘&GULL’ ereUge aumiun( .
(A) mmer ‘ B) wer
©C) & w Wiy
unaspaETl ereuems 9fsg) eropdlenme
(A) urse+rsTW Murr@+@46i)+a;rru'_1
(C) un+se+sml ‘ (D) umsb+&ETL
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"PART C
41. Factor needed for blood clotting function .

(A) Vitamin K ' (B) Calcium

(C) Iron w All the above

Qrss 2 mmeusH(S @gmauuu@)a_@ 1

(A) 106 Cs - (B) &né)ﬁ‘u_r»Lb |
- 4

(C)  ywrer (D) GuGe samL emansgb |

42. Dengue fever is caused by

(A) Plasmodium vivax M Aedes aegypti
(C) Plasmodium falciparum (D) Aedes albopictas ‘

QLmiE smlsee eTHETS FHLIHE DS ?

(A)  QermevGuomgwith efleunden (B) gQ@Lev Gjac?]lil‘é]
(C) GermevGomgwib SLreAUTD D) Qv HOCumIsL_mev

43. Sewage containing oi'ganic waste should not be disposed in water bodies
because it causes major water pollution. Fishes in such a polluted water die
because of: | :

(A) Large number of mosquitoes. - ' ) -
- (B) _ Increase in the amount of dissolved oxygen
Decrease in the amount of dissolved oxygen in water
(D) Clogging of gﬂls by mud

@ureLens sley a;@ﬁr;g, STESEL a;@eufi@nu B fleevsefla aﬂl_ésaamL_ng,j. gQenafle oig)
Bl Quilu wietey wITe FHUPSHID. LIFLLCL BGF@SW Biled 2 émer BSensar
Bis1ed (0. gQaaie |

A)  =ds semey Qsrasser INGEGI

B)  sorbs gsalmaier oarey élﬁ&lﬂ&@l.b

(C) samatie swrbs sailgaiar serey Gmpubd

(D) Gsppre Wansaflen Qeayaraer e _ss0LHLW

MHCO 3084 ‘10 A




44.

45.

46.

How much electrical energy 1n kilowatt hour is consumed in operating ten
60W bulbs for 10 hours per day in,a month of 30 days?

(A) 1800 o (B) 18
(C) 18,000 | | . ylso

pret  g@ems@ 10 wellGrrd 10 aanafiéms eerer 60 eumev LLIGi)L]éBGh’)GTT
30 pLlsEné@ el 65l L M6 eTeualenay HCameur’ apeult e #54 CoapeuiLBHitn?

(A) 1800 (B) 18

(C) 18,000 (D) 180

Decibel is

(A) A musical instrument (B) Musical note

M A measure of sound level (D) Wavelength of noise

QL&ue eremug)

(A) @ Lwmas smed | (B) @enss @oluy

C) gdlulien siereyGame D) Qenréeadian e Bemd

The ozone layer forms naturally by
(A) the interaction of CFC with oxygen

w the interaction of UV radiation with oxygen
(C) the interaction of IR radiation with oxygen

(D) the interaction of oxygen and water vapour

e Gsren UL GubDanswiTs eriuly gHuGEnS?

Q)  sefigaar Aelifl Gareugre ghuB A

(B) <y sadlsay e wed CrigpCuser Gereugme q@u@eﬁlp@

(©) saiiganLen gayi Gy Guser Gsraugte epuBHDg!
D) sedimaybd, Byredujb Ceraugnd ghuBAng -
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47.

48.

49.

Dalda is prepared from oils by

(A) oxidation ' M reduction

(C) hydrolysis (D) distillation
cregmen @l ad) () LméoLm Pl sUTNés 1LEEDS.
B)  ws&dnCapon (B) @emiiy

(€)  Sriusiy D) augsse

When an iron nail gets rusted, iron oxide is formed
(A) without any change in the weight of the nail
(B) with decrease in the weight of the nail

w with increase in the weight of the nail

(D) without any change in colour and weight of the nail.

S0 ALY et GUdksEn Gug, 2ifld by Ssman(

(A)  yeiluen T8l erealls LTHMAPL GHOMDE 2 (HeumEd

B)  yafluler areps @enmeyL e 2_(HeUMGLD ‘

C) peflufier erenL SiflsmiL e 2 (heum@Ld

D)  yeflfen aranulCGar, AnsdCen ahs LDTHOAPLD GEOTDED 2 (HeumELDd

We use hydrometer to check the condition of electroloite in the car battery. It

1s actually measuring the property of the fluid?
(A) Charge , w Density
(C) Temperature ' (D) Surface tension

smi urlLfulled  edrer s Crraomdl yean  sfluriés  oant Grr S Leny
(B <iisd wrefleow) pmd LWLHLESHECDTD. 2&5mel  Hreugdle 2 erer
B sierel Hdng.

(A) &gy B) <Lirsd
(©)  Geutiuib | (D) Gupuriiy Csmppib

MHCO 3084 12 A
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50.

51.

52.

A block of wood is floating on water. If the same is pushed down on the top of
the block until it is completely submerged, the buoyant force on it

W Increases

(B) decreases
(C) remains the same

(D) depends on how far beneath the water surface it is pushed

QT LIESHED f}r‘ﬂs&rr Cuer Wghbs Osramgmsdng. SissHepuiler Guouglienu

2AGEH@D (Ppeugiors Bhe papp@buig SCp wsdeanmed, sigem WssED elans

@)  odsfsen | | |

B)  Gepywb

(C) P QEH&EELD

D) <gar  VassEd s, vg;aiurso’o"r’rﬂe;&r Cupuriiyse: §Cp eeucuare SNy
SI(P5HAHSHCYTD erarueng QuUMHSS B)(HEED '

Stock exchanges deal in

(A) Goods (B) Services
w Financial Securities (D) Country’s Currency

Epsam_eupdled eTdled L@ sheng Lfleuissaman G H&ELWD?

(A)  srs@aean (B) CGgencuser

(C) PH ugdyruger (D) mrligen Brawrib

A cheque will become stale after months of its date.
3 | ® 4

C) 5 ' D) 6

e STGFTame Gfgg,mm rgsHnE e sroraudl @LD?

@ 3 | ® 4

(C) 5 (D) 6

13 » MHCO 3084.
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53.

o4.

The data collected by questionnaires are -

M Primary data " (B) Secondary data
(C) Published data : - (D) Grouped data

. Caeredgger apeid Coaflasiiu@ibd Ldrad efeuptd (Gl L)

A @g;e'mmm eReurid (B) @r,re&o‘erb fHleve afteurid
(O Qeuafl@ Ll L eSeurid (D) Qangssiul L efleurd

What do you mean by the term 'Lockout' ?
(A) A key for a lock lost
(B) The factory is closed once and for all

ﬁ The factory is closed by the employer to force the workers to accept the

1imposed terms

(D) None of the above

“SgeuenL_LL” ﬁehmrrsb GTGoTEnT ?

(A) Qzrepevbg Curar g Yl HEsTear gred

B) Hobsyors @@ Qgmiheremeaenw @Lq_aﬂ@mg,l '

(C) dflssiucL  fupsoasamar Y- G’ﬁ)g]]_$QBEFTGiT@LbLII.q_ | Qg,rr@eo.rrcrﬂa;mm
SLLTUUUBSSSDE paeraiumed Ggrfhlherae apL Lu{Haug

N

D) CuGwo s ageb Gdama

55. Patents, Copy Rights and Trademarks represent :
(A) current asset _ (B) fixed asset
(C) investments M 1ntang1ble assets
erlyflenw, uglliyfleno wHYWL psdeny (LCrl wriié) eTengs @GH&HEGLD?
(A) pLOy Qergg | (BY Hopsy Qerss
C) epagad D) yeeamsrs Qensg
MHCO 3084 14 A




POCSO Act (Protection of Children from Sexual Offences), special law has
been passed to address the issue of sexual offénces against children.

Which of the following statements are correct?

It is a comprehensive law:

1.  To provide for the protection of children From the offences of sexual

assault, sexual harassment and pornography

2. To safeguard the interests of the child at every stage of the judicial
process.

3.  For the proper development of the child in view of his’her protection of
the right to privacy and confidentiality

(A) Statements 1 and 2 are true
(B) ' Statements 1 and 3 are true

(C) Statements 2 and 3 are true

M Statements 1, 2 and 3 are true

GRbmssErstsdriar utdlwd GODLEERSE STe| smapb eamsuiad uredlwieo
ALY GES Gphegsaar urrgua;rra;@m FLLID (POCSO) @mrpmuuLL_g,J

ﬁgssamn_ Fapm&sefle eTg) &rﬂu_urrememm’?

1. urdlwe SMEGS®, umelwe CQsrbgre| WHHID Gurrrr(%mrré]r;rmﬁ] CSurrarr;D
GDDRSMNBHES GRhmssmar UTgISTILSHESTEN 6dlfleurer F LD G0

2.  BHoeap pLeugsmsuian geuCeunh sl LsHib Gbasuden Haamar Béer 1L b

LITGI&TEGLD.

3. Gwhmsuien g,saﬂurﬂsmm OHIILD r,ré;eﬂu_lg SETEDLDESHTET &rﬂmmu_‘ﬂasr c"qquuem_uﬂsv

Gybamsguden 2 fennewt @&sL LD euaridSlwemLwé Q&u_leﬂg)gj
(A) 1 wpmb 2 sapmser sflwirarana
B) 1wopw3 amj)gjésm sflwrenenscy
€) 2womwb3 &;ﬂbgléBGiT sflwrerencu
D) 1 wse 3 smpmser sflwnraanou

MHCO 3084
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57. Assertion (A): V.0. Chidambaram established a Swadeshi Steam
Navigation Company.

Reason (R): He wanted to oppose the monopoly of the British in
navigation through the coast

M (A) and (R) are true and (R) is the correct explanation of (A)

(B) (A) and (R) are true and (R) is not the correct explanation of (A)
(C) (A)is correct and (R) is wrong Codes ‘

D) (A is wrong and (R) is correct

&mom (A) 1 ene. Asburb &CsAw sliue Hneuasms <, nb@ssi.

snrewo (R) © gypriflGaowflen sLceulf vwarsdnarer EGurs WrsGus 2 Menwew

Spsam_cubhlen erg sMwrareaneu?
A) (A bogw (R) sftureneney. (R) eraug) (A)gamer sfluinem eQeTSSD @ Lb.

|
ABbUTETT T TSHTIT. SR |
B) (A vognw R) sfluraemes. e (R) eraug) (A)ssnen sflwner eSletésid

@cvenen.
(©) (A) sflwretema, R) seupnang.

D) (A seuprens), (R) sfwrerenay.

58. Adolescence is also known as

d Teenage (B) Middle age
(C) Both (A) and (B) (D) None of these

QarvQgruw (Adolescence) aranug
(8)  eonog (B) pHisr ez
©) (A vpgw (B) (D) CuwCe saTL ergab G

MHCO 3084 : . 16 A




59.

60.

Consider the following statements regarding the geological phenomenon
Tsunami?

1. Tsunami waves have longer wave lengths and hence difficult to discover
from off shore.

2. Tsunami waves are majorly generated due to earthquakes on oceanic
crust.

Choose the correct answer: |
(A) Only1 (B) Only 2
W Both (1) and (2) (D) None of the above

genmll LuHMw EEETL FoHMISSHMET HEUIESEYLD.

L semdl oewesdar faora Simesmeas et g. xsGal s SLIES
QeuaNGwiull(pbgs seirHidig (ILg) Sigab.

2. sL@EG <g@é ghuln Hleo phHEsssme QumBDUTEID Famd Semesd

eT(p&Hmg).
Quhéseam_cuhbe erg fluraemey: |
(A) 1w ®Hweh (B) 2wl @ &M
(C) 1 wombd 2 b e (D) CuwCe saTL. eTgi6D @evene

Which among the following has been enlisted as a fundamental duty in the
constitution?

(A) To cherish and follow the noble ideals which inspired the freedom
struggle in India

(B) To defend the country and render national service when called upon to
do so

(C) To protect and improve the natural environment

M All the above

@ndw esrfluamnly s Lidd EpsamLapile af gliumLs sLawseted

Qmsspg?

Q) @idu AEsmel Cumrit smg casgelss &flu Qerarassmar GurHOHIL
ungsTsg Guentls Casrereug)

(B) <ips&ELEUNE prieaLl urgariiug wpmib (5@ Ceme Aeloug)

(C) Quipems sHNILD GPee UTGSTUIUS LHMID euamTEfwam wé delieg)

D) CwCe sarTL NOETSHFILD :

17 MHCO 3084
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61.

62.

63.

64.

Wifi is a short name for
(A)  Wired fidelity
(C) Wireless frequency

‘EEUGHL) GTEITLIG) GTS 60T S(HESLD
(A)  ewir® 9GSy

(O)  ewr@eev LFQ&sTWETE

One Mega Byte is equal to?

w 1024 Kilo Bytes

(C) 1024 Bytes

@ Qs anul GTaTLIG|
(A) 1024 Geom ewev
(C) 1024 swvulev

M Wireless fidelity

E-mail message can be protected by

(A) Mirroring

M Encryption

8 -Gwulene CTSHGTTED LINGISMES (Lplg tih?

(A) Bipfe
(O aadfiigen

(D)

(B)
D)

(B)
)

(B)
(D)

(B)
(D)

(B)
D)

Who invented the Doctor’s thermometer?

(A) Fahrenheit

\W Galileo |

(B)
(D)

None of the above
euw rleven NG edL Iy

CuGe seawTL argieyld @)denen

1024 Giga Bites-
1054 Bits

1024 flam enul_eiv
1054 Qe

Caching
Resending

Casdlim
fQgenig.mi

Edison

Darwin

msgieuiien Qgmom By sam®i9y Sseur wmi?

(A  ungemad
C) &80 Cwm
MHCO 3084
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65.

66.

67.

68.

AGMARK Act came into force in India in

& 1937 SR (B) 1957

(C) 1947 . - (D) 1967
S&LMTE s b @bdwredley eriGuUTg) HLEQIES uBSEI?
Ay 1937 o (B) 1957
C) 1947 (D) 1967

Nuclear reactors that are used to produce electricity are based on

(A) Nuclear Fusion W Nuclear Fission
(C) Cold Fusion - (D) Super conductivity

EpasameuhMe ergen g liumLuld igm 2 omauie Weansm surflss UGS DS ?
(A siam Qe o (B =gl Geriy
(C) et QenemriiLy D) erafiflp &5

The tri-colour flag was first hoisted on o _
(A) 31stJanuary, 1928 : M31St December, 1929
(C) 26tk January, 1950 ‘ (D) 15th August, 1947

epeuiTenTd @& mg. (1pgHed (50956&61) rGung gopUL L &7
(A) 1928 gameurl 31 . (B) 1929 webur 31
(C) 1950gamafi2s (D) 1947 s6v® 15

First Visually Impaired I.A.S., officer in India is

(A) Narendar Patil g Pranjal Patil
(C) Sujitha Patil _ (D) Amirtha Patil

@ pHuneiicr ser Lmienes SIHDH WPHD g6 eTev Sidlsmil
A)  pCrbsTuliged 7 (B) Ypgpeme uLiged
(C) ssdam iy ' D) ouligr ulige |

19 MHCO 3084
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69. A question paper consists of 100 questions. Two marks are awarded for every |
correct option. If one mark is deducted for every wrong option and half mark is
deducted for every question left, then a person scores 135. Instead, if half
mark is deducted for every wrong option and one mark is deducted for every
question left, then the person scores 133. Find the number of questions left -

unattempted by the person.

Vi 1 (B) 16 | 4

(€) 10 D) 12

e amggrailer 100 Caerelaet QmeSng. eeaQeurm aflwmar eSlenL_&GLb 2
" wHUQuaTEET aupEsLLGADg. palan® seuptar olmléss 1 wHUGUTED,
eflenLwieflssng geuGeumm @STG&W@&;@LE) 1/2 wlduangnid Gonsslul L, g
puir 135 wéluCuarser Qupdpmt. SisnE udd, Qe soupnen eflenl_&@ 1/2
wéluCudranb, elmLwellssrs gaQerm  Qemasen 1 10 &l LT gy b
G@PSEULLLID  opg  puf 133 whHlQuansdr GQupdpri.  <iks g,urﬁrsb

eSlenLwafl&&ns ellanésdr ereucuemey eTesTml ST (HLlg SHALD.
A 14 B) 16
(C) 10 D) 12

70. Pythagoras Theorem is applicable to
(A) Equilateral triangle | (B) Isosceles triangle

W Right angled triangle (D) All the above

Aznanen Cepmid Epsam_cupiler araneE QunmHEID?
(A)  swUss WECsTamid B) <igw Lss WPECaTaRTD

(C) auag Gaream (l_.pé;(S&;ﬂ@ﬁLb (D) GuGe sarL SIS ED
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72.

73.

You'ar(e_appearing for your graduate examination and you find the question
paper not only difficult but lengthy as well you would

(A) Protest and leave the examination hall

(B) Ask the other examinees to agitate in the examlnatlon hall
M Answer as many question as possible

(D) Write a protest letter and answer the paper

f;rmasm Uil ugligssntar Gsiey erpss Qgawdldiser. eﬂe‘mrg,g,rrm slqanorenGs
0L (HD Seveore GCaerelladr HeTorangraeyb 2 ereng). Bhiser
A) < Csuamen Qailg) Caiey Sienperw el () CeualGu GedeiTaar

(B) Gsitey erpgib wpp putsmaryd Csey g{@)g)ufﬂa) <l Cauamar Q&u.;u_;muq
Cammeinser

(C)  (pyhseuamy sifs aﬁ]smrrssas@a;@ e wiaNSiaar
D) e Y Cruman sussms apdail § elamasenés sdmwallisiser

Select odd one

(A) Star (B) Sun

(C) Moon W Universe
" AIGCEISLTE gueiﬂmm Cairey Q&lis

(A  plesfmbd B) @Mwer

(C)  sndyen D) YGrugssd

Pointing to a photograph, Suresh said, "She is the daughter of my
grandfather's only son." How is Suresh related to the girl in the photograph?

(A) Father & Brother
(C) Cousin (D) Uncle

R YmsUUL s STy, SHeuar erar srgsreder Gy waafear waar erem sGres
gaplani. Yenslu g8leb o dmer 2ibg Quanamis@ &Greay eremeu GTESIE 2 D&Y (LPenm?

(A) Ebang (B) sCansyir
(C) paTmed L sGans it | (D) wror
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74. Statement: A large number of people in ward X of the city are d1agnosed to be
suffering from a fatal malaria type.

Courses of Action:

I The city municipal authority should take 1mmedlate steps to carry out
extensive fumigation in ward X. :

II. The people in the area should be advised to take steps to avoid mosquito
bites.

(A) Only I follows

(B) Only II follows

(C) Neither I nor II follows
Both I and 11 follow

Gambm @@ Barssle 10 eug G;Jrrr'rLoer o aren Hles waser wGoflwr srlidsome

urdlasliL’ (Hetersns senrLblwuiuBGEms).

QETLT BLeUlg&ns :

L p&ErTL &l 10 aug eurienl YensCurl (B &550 Celw 2L anguins (II)L..Q_Hq.SSGU)SS

eT(h&a Gouanr(Hib.

II.  situgdlla 2der w&saT shsmer WsTH SiESTOO QUGS HLEUGSMS
- a(REGLUY D&SEHEE hle et alpnis Causm(Hib.

A) 1wl epw deaunn Ceuamiib

B) I wvl@i deaupp GeuearHibn

(O) I siwag IT Gemunp CevenrgwiSaene

D) 1 wombd I Qerupm Ceustr(hib

75. If white is called blue, blue is called red, red is called yellow, yellow is called
green, green is called black, black is called violet and violet is called orange,
what would be the colour of humahn blood?

(A) Red (B) Green
Yellow (D) Violet

Geuctenar Hipsens Beuid Gre;isrguLb Bo Bnses Heuliy eremmid, eﬂGUL'Jq flngens Ehear
GTEMILD, LDEHFET @gpg;emg LiEeE eTeimD, LSS HIpses smLiL erammld, snili| Fnsms
oargT GTANBILD, 2a1ET BnSens cfgbr;r@a" TeImID, PSS Wafls @Ug,g,m GTJ_F,g, Hlpwrs

BOEGD?. :
(A)  Seuiy (B) u&es
(C) epser (D) oeagm
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76.

77.

78.

79.

80.

81.

"PART D

Which one of the following is an Impact printer?
W Dot matrix Printer (B) Thermal Printer

(C) Laser printer (D) Inkjet Q{'inter P

Which of the following OS is a commercially licensed Operating system?
W Windows (B) UBUNTU

(C) FEDORA (D) REDHAT

Expand POST .

(A) Post on Self Test (B) Power on Software Test
w Power on Self Test (D) Power on Self Text

Which one of the following is not a text editor in Linux?

(A) VI (B) VIM

(C) Gedit w Opencalc

What is the shortcut key to go to the start of the document in open office
. writer? _ | ‘ "
W Ctrl + Home (B) Ctrl + End

(C) Home (D) End

What is the shorteut key for finding and replacing text in a document in open

office writer?

W Ctrl+F (B) Ctrl+R

(C) Ctrl + F4 (D) Ctrl +F9
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82. What is the short cut key for Undo 1n open office writer?
Ctrl +E (B) Ctrl+U

M Ctrl + Z (D) Ctrl +n

83. Which is the shortcut key to view the slideshow?
(B) F9

(A) Feé
w F5 | (D) F10

84. The ability to combine name and addresses with a standard document is called

document formattlng (B) database management

w mail merge ' ' (D) form letters

85. In MS-Word, the process of removing unwanted part of an image 1s called
(A) Hiding (B) Bordering
j Cropping -~ (D) Cutting

86. Which one of the following short-cut key is used for center alignment of
paragraph in MS-Word?
(A) ctrl+C (B) ctrl+S

€) ctrl+A S wctrl+E

87. In MS-Word, the auto-correct was originally designed to replace

words as you type. 3
@A)  short 7 misspelled
(C) repetitive (D) macro

MHCO 3084 24 A




- 88.  From which menu you can-insert Header and Footer?

W Insert Menu . (B) View Menu
(C) Format menu (D) Tools Menu
89. Shortcut for document views toolbar is situated in bar.
(A) Task bar W Status bar
(C) Tool bar (D) Title bar
90. Bullets and Numbering is in tab.
M Home tab - (B) Insert tab
(C) Pagelayout tab - (D) View tab
91. To open an existing document, chick on the and then select
Open. 7
W MS Office button _ (B) . Quick Access Toolbar

(C) Document Views ' (D) Ribbon

92. Pressing F8 key for three times selects
(A) Aword ' w A sentence
(C) A paragraph (D) Entire document

93. The key F12 opens a
w Save As dialog box (B) Open dialog box
(C) Save dialogbox (D) Close dialog box

MHCO 3084
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94. Background color or effects applied on a document is not visible in
(A) Web layout view (B) Print Layout view
(C) Reading View y Print Preview

95. What is the default left margin in Word 2003 document?

VIS - e

(C) 1.5" \ (D) 2"

96. Which of the following statement is 'faise? !
(A) You can set different header footer for even and odd pages
(B) You can set different page number formats for different sections
(C) You can set different header footer for first page of a section

M You can set different header and footer for last page of a section

97.  Where can you change the vertical alignment?
(A) Formatting toolbar : (B) Paragraph dialog box
. y Page Setup dialog box (D) Standard toolbar

98.  Which of the following is not one of the three ‘Mail Merge Helper’ steps?
(A) Merge the two files (B) Create the main document
M Set the mailing list parameters (D) Create the data source

99. Comments can be added to cells using
(A) Edit -> Comments M Insert -> Comment

(C) File -> Comments (D) View -> Comments
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100. Which of the following isnot a type of page margin?
(A) Left - ‘ : (B) Right
( Center ' . (D) Top

101. Which of the following is the latest version of MS Word?
(A) Word 2013 (B Word 2018
w Word 2016 ‘ (D) Word 2017

102. You can set Page Border in Excel from _
(A) From Border tab in Format Cells dialog box
(B) From Border tool in Formatting toolbar
©) From.Line Style tool in Drawing toolbar
j “ You can not set page border in Excel

103. Which of the following Excel screen components.can NOT be turned on or off?.
" (A) Formula Bar (B) Status Bar ‘
(C) Tool Bar _ | y None of above

104. Which button do you click to add up a series of numbers?
W The autosum button : (B) The Formula button
(C) The quicktotal button (D) The total button

105. Which area in an excel window allows entering values and formulas
(A) Title bar ‘ (B) Menu bar
w Formula bar (D) Standard toolbar _
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106. Excel files have a default extension of

w’ Xls (B) Xlw

(C) Wkl (D) 123

107. When the formula bar is activated, you can see
(A) The Edit Formula button (B) The Cancel button
(C) The Enter button \V All of above

108. Which of the following is not true about Find and Replace in Excel
(A) You can search for bold and replace with italics -
(B) You can decide whether to look for the whole word or not
(C)  You can search in formula too

ﬁ You can search by rows or columns or sheets

109. Which file format can be added to a PowerPoint show?
A)  Jpg B) .giv
(C) .wav ' - M All of the above

110. Which of the following is not one of PowerPoint’s views?
(A) Slide show view (B) Slide view
w Presentation view (D) Outline view

MHCO 3084 ‘ 28




111. Which PowerPoint view works best for adding slide transitions?
(A) Slide show view W Slide sorter view
(C) Slide view (D) Notes view

112. Which of the following views is the best view to use when setting transition
effects for all slides in a presentation?
M Slide sorter view (B) Notes page view
(C) Slide view (D) Outline view

113. The quickest way to create a PowerPoint presentation is to use the
Word for windows templates (B) Auto creation wizard

M Auto content wizard (D) Presentation wizard

114. To start Microsoft PowerPoint application 7
(A) Click on Start >> Programs >> All Programs >> Microsoft PowerPoint
(B) Hit Ctrl + R then type ppoint.exé and Enter
M Click Start >> Run then type powerpnt then press Enter
(D) All of above

115. Which menu provides you options like Animation Scheme, Custom Animation,

Slide Transition?
(A) Insert Menu (B) Format Menu
(C) Tools Menu M Slide Show Menu
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116. To start slide show of a presentation
(A) Hit F5 key
(B) From Slide Show menu choose View Show option

(C) From Slide Show menu choose Rehearse timing

M Both (A) and (B)

117. In a PowerPoint presentation ' i
(A) Sound clips can be inserted but not movie clips
(B) Movie clips can be inserted but not sound clips

(C) Both cannot be inserted

M Both can be inserted

118. From which menu you can access Picture, Text Box, Chart etc?

(A) File (B) Edit

ﬁ Insert o (D) View

119. The slide that is used to introduce a topic and set the tone for the presentation
. 1s called the

(A) table slide (B) graph shde
(C) bullet slide " . w title slide

120. Which of the following should be used when you want to add a slide to an
‘existing presentation? o
~(A) File, add a new slide ' M Insert, new slide
.. (C) File, open. . - (D) File, new
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121. The best way to insert a new slide in a presentation is to use the
(A) Normal view (B) Special view

(C) Slide show view W Slide sorter view

122. In Microsoft PowerPoint two kind of sound effects filesi that can be added to

the presentation are
«{ .wav files and .mid files (B) .wav files and .gif files
(C) .wav files and .jpg files (D) .jpg files and .gif files

123. To add a header or footer to your handout, you can use

(A) Thé title master (B) The slide master
M The handout master (D) All of above
124. Page makeris a software.’
&7 Desktop Publishing (B) Word Processor
(C) Spread sheet : (D) Presentation
125. is at the top of the window and it displays the name of the
application. '
(A) Menu bar 7 o W Title bar
(C) Tool bar (D) Tool box
126. is displayed below the title bar.
W Menubar (B) Title bar
(C) Toolbar . ‘ (D) Tool box

MHCO 3084
[Turn over




127. Layout is in — bar.

& Menu bar |  (B) Title bar

(C) Tool bar (D) Tool box
128. Save option is present in bar.

(A) Menu bar (B) Title bar

G’ Tool bar (D) Tool box

129. The tool used to select any kind of object on the page is called

(A) Rotate tool : (B) Text tool
w Pointer tool (D) Crop tool
130. contains all the tools we need to compose a page.
(A) Menu bar : (B) Title bar
(C) - Tool bar ﬂ Tool box
131.. Clicking on the tool changes the pointer to an insertion point for

typing and highlighting text.

(A) Rotate tool w Text tool
(C) Pointer tool (D) Crop tool
132. tool rotates a text box or image to a desired angle.
(A) Rotate file , (B) Text tool
w Rotate tool (D) Crop tool
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-133. tool is used to reduce or cut image area.

~ (A) Rotate tool (B) Text tool
(C) Rotate text SR ﬁ Crop tool
134. tool is used to draw square cornered boxes.
(A Rotate tool ' (B) Text tool
w Box tool _ (D) Crop tool

135. The tool used to move the entire page on the screen is called

w Hand tool B) Text tool
(C) Box tool (D) Crop tool
136. tool is used to change the magnification of the page view.
Hand tool - (B) Text tool
W Zoom tool (D) Crop tool
137. Colors Palette is present in menu.
(A) Menubar (B) Title bar
(C) " Tool bar | ' w Window menu

138. The default orientation in Pagemaker 7.0 is

W Tal (B) Wide

(C) Broad (D) Narrow
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139. The style is draw a verticle line through the middle of each word is called

(A) Reverse | : : y Strike through

(C) Italic (D) Normal
140. 1s the line between two lines of type.

W Leading  (B) Tracking '

(C) Formatting (D) Editing ~
141. Adjusting the space between two consecutive characters is called

(A) Leading M Tracking

(C) Formatting ’ (D) Editing
142. Paragraph formating options are present in ' menu.

(A) Menu bar (B) Title bar

(C) Tool bar y Type menu
143. move the text inward from right and left margins.

@ Indent (B) Cut

(C) Spacing (D) Formatting

144. Which is not an alignment option 1n Page maker?
(A) Align Left (B) Justified
(C) Center | W Bottom
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145. Cut option is present in e — menu

(A) Menu bar L 7 Ldit
(C) Tool bar - , (D) Type
146. Remove pages option is used in menu.
W Layout | (B) Edit
(C) Tool bar (D) Type
147. is used to specify both color and type of fill and line in one
operation. -
# Fill and stroke a ®) Fill
(C) Insert page \ (D) Force Justify
148. means changing font size.
(A) Leading (B) Tracking
W Scaling o (D) Editing
149. ' button inserted in slides will perform predefined action when
you click the button
&  Action (B) Find

(C) Justify - (D) View

150. The IVRS stands for the
(A) Internet Via Radio Signal
W Interactive Voice Response System
(C) Integrated Voice Recorder System
(D) Internet based Voice Recognition System
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7.

10.

11

12,

13.

MHCO 3084

Each question has four responses (© and (@. You have to select ONLY ONE coriect
answer in the OMR Answer Sheet. In case you feel that there ate fiiore than one correct

answers, mark only the answer which you consider the most appropriate. In any case, choose
ONLY ONE answer for each question. E.g., If for any question, B is the correct answer, you
have to shade as follows:

2000

The Question Booklet is printed in four series viz., [A] [B] [C] & [D]. The name of the series is
printed on the top of the Quéstion Booklet. Mark and shade your correct Question Booklet
series [A] / [B] / [C] / [D] carefully in the OMR answer sheet by darkening the appropriate
circle without fail. In case of any wrong entry of Booklet series or discrepancy in determining

the exact booklet series, then, in all cases your Answer Sheet will be invalidated.

You should not remove or tear off any sheet from the Question Booklet. You are not allowed to
take the Question Booklet and the Answer Sheet out of the Examination Hall during the time
of examination. You are permitted to take the Question Booklet only after the Examination is
completed.

Do not write anything in the Question Booklet, except in the space provided for Rough work.

Failure to comply with any of the above instructions will render you liable for action or

penalty as the High Court may decide at their discretion.

Using Whitener / Blade / Eraser or any kind of tampering to .change the answers on OMR

answer sheet will lead to invalidation.

PART C is set in both English and Tamil. If there is any inconsistency between English and

Tamil version, English version shall prevail.




TYPIST

MHTY 5 98 5 | Booklet Series :

K :
Booklet No. 15021 Register No.

Time : Two Hours Max Marks: 75

IMPORTANT INSTRUCTIONS TO CANDIDATES

1.  The Candidate will be supplied with Question Booklet 15 minutes before commencement of

the examination.

2.  This Question Booklet contains 75 objective type questions. Before answering, the candidates
are requested to check whether all the questions are in seriatim and ensure that there are no
blank pages / Questions in the question booklet. In case any defect is noticed, it shall be
reportéd to the Invigilator within first 10 minutes and get it replaced with a new same series
Question Booklet. After 10 minutes of the commencement of the examination, it will not be

~ replaced.

-~

3. Each Question carry one mark (No negative mark will be deducted for the wrong answer).

4. You must write your Register Number in the space provided on the top right side of this page

without fail. Do not write anything else in the Question Booklet.

5. Personalized OMR Answer Sheets of the Candidates will be supplied by the invigilator for
answering the Questions. If the OMR Answer Sheet, is in anyway defective, the same shall be
brought to the notice of the Invigilator immediately before shading, so as to supply a spare

" OMR answer sheet.

6. You must write and shade your Question Booklet number in the space i)rovided in the OMR
Answer Sheet without fail with Blue or Black Ball point pen only.
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PART A

Fill in the blank with a suitable preposition from the options

The boys jumped ——— the tank.
M into B
{C) over (D) between

Pick the 'right word for the space in the sentence :

LCan I borrow ———————— bhooks from the library?
(A) one ' (B) all

(C) few y some

'Pick the word that means “question and argue” :
w dispute ‘ (B) reject
(C) deny | (D) refuse

Read the passage and choose the best answer for the question below :

“Every day the tide comes in twice and goes out twice, or, as we sometimes
say, it rises and falls. The cause of this rising and falling is the attractmn of
the sun and moon on the oceans of the world”.

How do we describe the coming in of the tide?
(A) It enters the land (B) It falls

M It rises (D) It withdraws
i

Out of the four alternatives, choose the one that can be substituted for the
given words/phrase.

A disea'_lse that affects a large number of people in an area at the same time
(A) Endemic | ¢’ Epidemic
(C) Infectious (D) Contagious

3 ~ MHTY 5985
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6. In the question, a set of four words are given, marked A, B, C and D. In each
set, a word has been spelt in four different ways. Choose the word correctly
spelt. :

(A) . grammer (B) gramer

(C) gramar w grammar
7. Answer the following with suitable question tag.

Ravi played hockey, ———7?

(A) did he? & didn’t he?

(C) does he? . (D) doesn’t he?

8. Sherlock Holmes is a ) l
character in fiction (P)
than any other character (Q)
more people (R)
perhaps known to (S)

The proper sequence should be :
& PSRQ (B) QRPS
(C) QSPR (D) RSQP

9. Read the following passage and choose the best answer for the question’

below :
“Without a leader, men find it difficult to organize themselves; and without
men to support them, even the greatest leaders cannot carry out their plans .
It is the combination of leader and people that brings success”.
What, according to the passage, brings success?,
(A) leader ‘ !
(B) people who support a leader
combination of people and a leader
(D) the greatest leaders
10. _Choose the right word for the space in the sentence :
I have ears, so ] —————— hear.
(A) will ‘ ﬁB) could
can (D) shall
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11.  Pick the correct passive voice sentence for the following :

She wrote a letter.

w A letter was written by her

(B) A letter had been written by her
(C) A letter has been written by her
(D) A letter is written by her-

12. Fill in the blank with a suitable preposition :

She was playing —————— the evening.

(A) at | (B) for

w in (D) before

13. Supply the missing link for the following sentence :

The book ————— I bought is missing.
W which ~ (B) where
(C) how (D) when

14. Pick the word that best describes a person of gentle nature :

(A) merciful (B) respectful
‘gﬁ’ kind (D) virtuous

15. Choose the correction for the word in italics in the sentence :

He had his dinner when the guests came in.

M was having (B) has
(C) is having - (D) will have

MHTY 5985
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16. Choose the option that best describes the condition of the person in the
sentence : |

He climbed the wall and sat there breathing heavily.
M exhaustion - (B) hopelessness A

| (C) excit'ement o (D) weakness

17.  Choose the correct verb form of ‘walk’ for the space in the sentence :

1s a good exercise.

¢ Walking (B) To walk
" (C) To have walked s, (D) Tobe walking

18. Say which one of these explanations is correct :
w A washing machine is one that washes clothes
(B) A dancing master is one who dances
(C) A walking stick is one that walks
(D) A dining hall is one that dines

19. Read the following sentences and choose the best question form for them :

My purse must be in the train. I must have dropped it there.

w Could I have dropped it there?
(B) Couldn’t I have dropped it there?
(C) Must I have dropped it there?
(D) Mustn’t I have dropped it there?

20. Choose one word from the options for the words in italics :

He has been doing nothing all mornihg.-,

7 ide (B lay

(C) wasting o (D) lethargic
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21.

22.

23.

24.

Choose the alternative that is closest in meahing to the word in capitals.

IMAGINARY
(A) realistic | | 1 (B) .bieak

(C) trance SNE y dreamy

Choose the alternative that is closest in meaning to the word in capitals.

FASTEN .
W affix B (B) untie

(C) holder D) thin

Pick the right word for the space in the sentence :

A group of boys ————— library regularly.

(A) are visiting | w is visiting

©) .visits . - (D) visiting . - . 0
Kishore go temple daily? , : R B

(A) Do B) Wil -

(© Can - @ Does

I agree ——————— your opinion.

M with (B) for
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PART B _ |
26. srlenhg e (1l @ (Harsudlen urr;u@ugum SUIpLILITL 6

M HmQeubureney (B) Amssmer
(C) HmsCarameu | . (D) Hmwrewe
~ . !
27.  Qameveflan Qeceuen’ eram umpm_LGLIYLD SHUFTOMUETS Samg LOMB&GIT 1
eiL_amren B) <mssen I

y SigLoé (D) pmoen

28. - srdlsw ssrLN e(mg QubHD 5@9@& SUgIe0 pELoTeien e i ' |
: : |
(A) - Gpwit elmLiLd , - (B) umdeid
(C) wLleLerflger w SEOTLIGDET
29.  Csreucven saemdl L gl Geameui
(A) Ggmﬁgl ' ' B) gow | 7
(C) Longrﬂ ' w 356]45@ _ : '
30.  gUlips fmsens wereren &
| A) .o B) sad
w QgwsThser (D) Queraf

31. 8w Cerdl wnmerLw eugTHaD THSS @TES TG ?

A  srpdugser ’ (B) geuaniere Crm
M Qeergio Lssir (D) < flsmari
32. BHABM ersssHen o HAwi
(A) gearmeuwni w GLIGmUT
©C) SausQpanei (D) = felipymor

33.  sUlps Wsemped eramiumgmL i Qumueur -
(A) eusU. wrefi&EsD o (B) @or.9. CegiuQerener
(C) @p.eupgyrser : yﬁ@.aﬁl.a;
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34.

35.

36.

37.

38.

39.

40.

2 aserreilw GFbblwmplser
4 | |
w &P, 6V mSib, Farlb, e gmuib
(B) s, egder, Qamomeaiiuib, ;ﬂgbréuﬂmm

(C) s, 2 mg, HCréaw, Fand
(D) sBlY, swavd(Hab, QEQbiE, N TEhs

QBHBEESTeNS erarliLhib e (HELsTans Hie
(A up@omg ‘r_f,rr@rrgj (B) modienenr Brenmmy
©)  upprean S W BB
‘atCm Geopb p(meuGer ngg'a_l@ub" eramy Qomlbgeu
(A)  odesr icranTTgieny B) Hm.el.5
7 dower D) Hevdrepesi
Qummsswmen Geanemenls Camey Caus
(A) GCsdub s1ss QFbwe - QumEsdsHyenmi
/w UGS RIS -  Cpar
©) wrrligw eSgr - w.Qurd
D) uvreuGam - Hosr
Qe @sgIw Gumg ur_ U@ LrLe
@A) EssLUE (B) mpgLim @
©) ELOLLILG : w cuaTenaTLILITL_ ()
(WpSHC 2@ eTend (pigud Gatley ‘2 e erarudler eumium(
(A)  prer (B) werr
(O :1,7: ’ w Gy
uTEHST eTeUens LNM&g) erpdlermed
(A) urs@+sIU , d LI + <D0+ &L
(C) um+se+smi ‘ (D) umsb+smi
9 MHTY 5985
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PART C
41. Factor needed for blood clotting function: -

(A) Vitamin K - | " (B) Calcium . )

(C) Iron W All the above » "

Qusib 2 wpeugp@ CemaiiLBeig :
A) ol 1Aér Cs . (B) srédlwup o ,
(C) =wmen ' (D) GuwCe sair.. Simadgin

42.  Dengue fever is caused by

(A) Plasmodium vivax w Aedes aegypti
(C) Plasmodium falciparum (D) Aedes albopictas

QL@ &TLESD eTgenmmed erhu S mE)?

A)  QermenCromg with efeurden (B) gQiav gdlid
(C)  GermavGuomig uih LITE&ALTLD D) gQLev SiwCumsLren

43. Sewé‘ge cohtaining organic waste should not be disposed in Watér"} bodies
because it causes major water pollution. Fishes in such a polluted water die
because of:

(A) Large number of mosquitoes

(B) Increase in the amount of dissolved oxygen _
W Decrease in the amount of dlssolved oxygen in water B

(D) Clogging of gills by mud ' |

@urawens sifle Hbs FTHSEmL 5@@4'@66;17}%” ﬁeimua;mﬂcb aﬁh_é;ém_rrgj. q@m@iﬂsb <215
BRe Quilu wemey wre gHUBSSD. LIEILLL gsmaw Bid o drer Wemaser
@obgIAHIWD. eerariley - o ‘ '

A)  <=fs semey Qanséser @@és@u) _

B) sorps salgailan serey siglsllsELwn

(C) sawertle seorbs e?:bésmﬁ]gcbﬂcﬁ TG (DU LD

D) Copprer Denseafien Qeajdrser e ssLLMWD
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44. How much electrical energy in ‘kilowatt hour 1s consumed in operating ten
60W bulbs for 10 hours per day in a month of 30 days?

(A) 1800 s - (B) 18

(€) 18000 Sw 180

preT e 10 wallCpyd 10 admafléms oder 60 eumiev  UQUsmET
30 BL_s(@néE erilw 69l Lme ereucuarey HCameu aneur lar 64 CoaaiiL@b?

(A) 1800 | | (B) 18
(Cy 18,000 (D) 180

45. Decibel is
(A) A musical instrument. : '(B) Musical note

M A measure of sound level (D) Wavelength of noise

QL&lugy erestug) »
(A) @ @oss smed (B) gewsas @iy
RN (C) gpadluSten cwm‘m@as'qeb, _ o D) @enéseilan sieme Bemid B '

46. The ozone layer forms naturally by
(A) the interaction of CFC with oxygen
J the interaction of UV radiation with oxygen
(C) the interaction of IREV-;rfadiation with oxygen N

(D) the interaction of oxygen and water vapour

 gGenén LLeL @upemsLns alitiy FOUGSNS?
A)  gsefigaiLe Herld Garaugre ghuBHDS
(B) <ysadigmayan wed Gy Gussn Gereugme @rg)u CEOES
)  psedmaar mayi Grg CQuad Ceraisad gpLGADS)
D)  esadmain, frreduyn Csiaisiad gpuADE -

A 11 | MHTY 5985
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47.

48.

49.

Dalda is prepared from oils by

(A) oxidation | ' | % reduction {
(C) hydrolysis ' (D) distillation

eramreneruiedl(hbg) LmebLm ‘ v(g)@)Lb swrilésiuGEng. o /
(A =68gnCapod (B) @epuy

€ priugiy D) augszsd

When an iron nail gets rusted, iron oxide is formed
(A) without any change in the weight of the nail
(B) with decrease in the weight of the nail

w with increase in the weight of the nail

(D) without any change in colour and weight of the nail.
2@ BBy %eh 5L EED Curg, sifld Qb smeu(
(A)  eflfen eren_uléd ereuefls wIHDHEPLD G eTod 2 (HEITELD
B)  yenflulen erenLs @enmeyLem e (Heum@n

(C)  yeflulern eran siFlafiyL e 2 (maum@Ld

D) - yefller srapLuilGear, HipgsHGCar erpg WIHHAPLD FOWTLOE 2 (HeurEh

We use hydrometer to check the condition of electroloite in the car battery. It

is actually measuring the ; property of the fluid?
(A) Charge | g Density
(C) Temperature (D) Surface tension

ot utCLfler eemar aes Crreomdl ymer sfluriés eant Gur B Lany
(B o-sd wrefleww) BMD LWALHSHACHTD. EsHD  Hreuddd e drer
& serellHE .

A) s (B) <iLisd
(C)  Qeuliubd o (D) Cuwhurdy CsmmoLd
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.

50. A block of wood is ﬂoating on water. If the same is pushed down on the top of
the block until it is completely submerged, the buoyant force on it

w mcreases
N\

-

(B) decreases

(©) remains the same

(D) depends on how far beneath the water surface it is pushed

@@ wrEsHen Hiler G L[S];E_B‘I_i')@ QamenTiq(H&S g aé;s;ﬁ)mg)uﬁ]ﬁin Cupurienu
SissHeD (WPpaugions Hile app@ibuly. 6 SipsHare, sigea WgsELD cims

Q)  odafsEn |

B  Eopyb

(C) wrpTW GEHEELD

D) oigen  Ogseh Qs geamatiar CGooumiysg &G GTEUGUETEY  GTLD
2A(PSHAHEECorb eramieng UTBHES QHEHSLD

51. Stock exchanges deal in : o e

A Goods (B) 'Services.
M Financial Securities | (D) Country’s Currency
v
Spsam_eupBle ardled Lt shag uflauTssman G)(HaED?
(A)  spE@ser (B) Cseouser
(VC) B ugHyriser » (D) prlgen premrun
52. A ch_e.que- will become stale after months of its date.
W 3 . ® 4
©) 5 | . D 6
e snCsmane Grgg,m'm LTSS D@ e srereus] EL?
@) 3 - ®) 4
€ 5 (D) 6

A | 13 . MHTY 5985
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53.

o4.

55.

The data collected by questi‘onnaire's are. .
M Primary data (B) Secondary data |
(C) Published data "~ (D) Grouped data - " S 'f«"-{
v
Gaarellgsmer epavd GaaMasiu@ib Leretl eSleurd ((EL_LLH)
(A) | @gmmm eéfeumd (B) GrawLmd plena éﬁ]@.lmb
- (C)  Qevell@uul L efleugd (D) GQam@ssiulL efeurod
What do you mean by the term 'Lockout' ?

(A) A key for a lock lost o
(B) The factory is closed once and for all

M The factory is closed by the employer to force the workers to accept the

imposed terms

(D) None of the above

“&HEUENL_LIL|” GTEINDITC) GTEITEn ?

(A) @‘g,rremutr_'r)g,] Quinen @@ L (hsarer red

(B) ‘@U;%)g,qmné; (h Qamplhereeai eplyell(Heug)

(C) &dasuu ﬁ]uﬁ,géwma;mm JHMSESTET(@RDUIG G]g,_rr@eurraﬂasmm
slLTwUUBSSsHE (pHemaiiund Qgrpnsreaa apl uhHeg

(D) Gl serL ergeb @eeme h |

Pz;fents, Copy Rights and Trademarks represent :
(A) current asset (B) /fixed asset

(C) 1nvestments M intangible assets

aruyflens, uglliyfen wHmID P&y (LGl &) cTengé GO&GD?
(A) pruy Qensg B) Hrpsr Qensg
©) poged D) yeveamsrs Qengg
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56.

POCSO Act (Protection of Children from Sexual Offences), special law has
been passed toladdress the issue.‘gf sexual offences against children.

Which of the following statements are correct?

Itisa comprehens1ve law:

1.

A)

(B),

(©

To prov1de for the protection of chlldren From the offences of sexual
assault, sexual harassment and pornography |

To safeguard the interests of the child at every stage of the judicial
process.

For the proper development of the child in view of his/her protection of
the right to privacy and confidentiality

Statements 1 and 2 are true
Stetements 1 and 3 are true

Statements 2 and 3 are true

M Statements 1, 2 and 3 are true

GebmssErstadmear  Lmadluid @g’)mréja;@é;@ e smemid euemsuier Lmedlwic

Ghphsaldmhs Gubmgsmear urgetégo sl (POCSO)- @mg)gpuul_L_@

Epseart smpmssefle) ergl sflwinereneu?

.1‘

(A)
(B)
©
(D)

LSy SMEGSD, LTadluled Qg;n(&)gneq LOHMILD GuriCenrdymd ‘@unmm
. @horsafladmbgl @Lhassemer LTgETULSNEGSTE 6flfleurer &L <y ELD.

BT BL GG Hensudlen epeiibleum(m 5LL§:§]Q)JED @Q’r_'asmg,uﬂein ;I_Bevmm @& L b
UMTGISTEHEGLD. )

GLphengullen g,Goﬂurﬂean m;pgmo T&HWLS FHeenLo&HEHTen &lﬂmmuﬁlmé{quumguﬁﬂw

BB gullen &rﬂemmemu_l @& LD eueniESlwen_wi& Geuidlmg).
1 Hmb 2 spoiser 5rﬂu_|rr6mmu
1 pmib 3 sapmser FHlwTaenal
2 DHMID S FabmisHer sRlwLTeTena

1 apge 3 spmser sfluirarensy

15 | MHTY 5985
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7.  Assertion (A): V.0. Chidambaram established a Swadeshi Steam
Navigation Company

Reason (R): He wanted to oppose the monopoly of the British in
navigation through the coast |

| M (A) and (R) are true and (R) is the correct explanation of (A)
(B) (A) and (R) are true and (R) is not the correct explanation of (A)
(C) (A) is correct and (R) is wrong Codes

(D) (A)is wrong and (R) is correct

qapm (A) - ez fsburd &Gs8W sLILIG fnpeuagams <, rbl9ssTT.

smyemd (R) 1 yriflGoowfler sLdeuy uwargSnare F&Guns QrgGus o Mepoenus

g buyenm erlTEHE .
Spaeir_cuphled eTg FRlumaTeneu ?
A) (A wogd (R) sflurarena. (R) erenug) (A)ssnean sflwner élarssin <i,@Lb.

- B) A vpgw R) sflurameer. e (R) ereug (A)ssmanr sflwmer eflemg s

gleavene.
©). (&) sflunaenay, (R) seuprang.
D)  (A) seuprang, (R) sflwnereneu.

58. Adolescence is also known as

J Teenage ‘ - (B) Middle age
Both (A) and (B) (D) None of these

~

@erymwib (Adolescence) eremLig;

A) earggk (B) pOSST QLW
©) (A vogw (B) (D) Gule serL ergiab @dema
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59.

60.

Consider the followmg statements regardmg the geological phenomenon -
Tsunami?

1. Tsunami waves have longer wave Iengths and hence difficult to dlSCOVGI‘
*. from off shore. RS

2.  Tsunami waves are majorly generated due to earthquakes on oceanic
crust.

Choose the correct answer:
(A) Only1 '.(B) Only 2
y Both (1) and (2) (D) None of the above

el uHOlw EPsarT o pmiGsemar seuallésalld.

1. semdl emesedr Barorar mesmers Casramlgl. s6e s FLQIHE
QeuaflCuudmbgl serHidlig.Lg) Sy 6.

2. sL5E Sguleo ghudn Hleo BHESSSTO CLEHLUTID a;mrruS] SD|EDEVSHET

QLT
Cuopssamsundled T8 Fflwmeareaney:
(A) 1wl @ibese (B) 2wl @wef
(C) 1 wdpmbd?2 b gl _ (D) CGuwGe serL ergieyb @eeme

Which among the following has been enlisted as a fundamental duty'u in the
constitution?

(A) To cherish and follow the noble ideals which inspired the freedom -
struggle in India

(B) To defend the country and render national service when called upon to
do so

(C) . To protect and improve the natural environment
All the above

@ orflueaiy FlLsdad Spsarcunde gl @qquusm.& SL_GLOSET 6D

Bosdps?

(A) @rdu S@Hsamets GL_IH'IJTI'I_l_g)GU)'Q} 21 @SS &ﬂu_l G]a;rrmma;a;emm @ung)rf)]u ‘
ungansg Guentls Qamereug v

B) SYsELCuTgy Bl ungsTiug whmniw BrHié&eE Cameu Gawieug)

C) Qubems sHyLILD G LITEISTULG HMID euemTESeL s Q&u_leug,j

(D) Cuwlo sarL eaarsgID

17 MHTY 5985
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61. Wifi is a short name for , :
(A)  Wired fidelity 7 Wireless fidelity
(C) Wireless frequency ‘ ’ (D) None of the above

‘ereuenLy’ a@hugﬂ GTHEN &(H&ESHLD

Q) ewi® 9@LfIg ' (B)

(C)  euwrQeev LFQsTWIETS )}

62. One Mega Byte 1s equal to?

W7 1024KiloBytes - . (B
(C) 1024 Bytes (D)

(6 & epUL GTeLIg,
\(A) 1024 £ Geom eniil_en (B).
(C) 1024 epul_sv : (D)

63. E-mail message can be protected by
(A) Mirroring - ) B)

W Encryption o | (D)

@-Quulena CTHESTTED LIMGISTHSE (Lplg UL{LD?
(A) By . (B)

C) eaadfliea (D).

64. Who invented the Doctor’s thermometer?
(A) Fahrenheit ' (B)

JW Galileo (D)

euwirGleven ﬁ]@ué‘ﬁﬁ_q_

CGe sar_ ergleyb Gme |

1024 Giga Bites
1054 Bits

1024 @asrrsmul;m)
1054 Qe '

Caching

Resending

Caaslm
fQgemg. ki

—

Edison

Darwin

wmSgieufler Qg B Loy saT(HllgHeui wri?

(A)  urpemab | | .(B)
(O) I T N T o D)

MHTY 5985 | 18
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65,

66.

68.

AGMARK Act came into force in India in

W 1937 | (B) 1957

(C) 1947 , : D) 1967 - 0w

SiGNTE FL_D @BHwureld eriGUNE HLaIGE eubSE? .0 <
(A) 1937 | (B) 1957
(C) 1947 ., \ - (D) 1967

(A) Nuclear Fusion | , Nuclear Fission
(C) Cold Fusion - (D) Super conductivity

Eps@TL DD 6TH6 iiq.LILienL ule) iam) > eaufé uS]afrarm;rLo g,mrrrﬂ&.a;uu@eﬂmg'?
(A) e Gy ) ' (B) <igmiL ﬂmuu
©O) oflt@eeiy = (D) erafldp sLgd

The tri-colour flag was first hoisted on
(A) 31stJanuary, 1928 W 31st December, 1929 -
(C) 26tk January, 1950 (D) 15tk August, 1947

gpauiianrs Qamg s e wpsedler eriGung qﬁ)muul'_l_@?
(A) 1928 gaveufl 31 . (B) 1929 qsburr 3l
(C) 1950 maweudi 26 (D) 1947 ysev(® 15

|
|
’ . .. . , |
Nuclear reactors that are used to produce electricity are based on" S |
First Visually Impaired LA.S., officer in India is

(A) Narendar Patil W Pranjal Pat11 -
(C) Sujitha Patil o (D) Amirtha Patil
@pdwrelles Her LMTaneu SIHM (S &8.67.6T6n S ST
(A) sCrbsmulged (B)_ lﬁlu@&n@ I_IL'_I.q.G'U-
(C) sfsrulige - (D) <nfifgr ulige
19 : ‘ MHTY.59_85
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69. A question paper consists of 100 questions. Two marks are awarded for every

correct option. If one mark is deducted for every wrong option and half mark is
deducted for every question left, then a person scores 135. Instead, if half
mark is deducted for every wrong option and one mark is deducted for every
question left, then the person scores 133. Find the number of questions left

unattempted by the person.

M 14 B 16
s )
(C) 10 |

D) 12

@ deamggrafler 100 C’éase'rraﬁ]a;eh‘@@éaeﬁlmg. gauCeur sflumer aleL s@w 2
Hotluemser aupmsliLBEng. @eabeanm sauprar oL sz 1 wHUGUETEID,
ML well&ans qeubleunm eflarmas@nd 1/2 wHhHuGueaTamd @Gamnssliul L, @b
pui 135 wiluCuearsear QupEpri. signE Lo, gabeumm souprear eleaL &aE 1/2
m@ﬂ@us&w@m, dleoLwallsans  gatarm eamasgnd 1 wHuGuargnd
GDDESILL_LTE <bg  pui 133 wdlbuarsar Qupdpmr. oBEs  BLFTOD -

ellenLwefl&sng ellenmmEser ereucuene erann SerT(hlg.&&e6Lb.
@) 14 " (B) 16 |
(€C) 10 D)y 12

70. Pythagoras Theorem is applicable to
(A) Equilateral triangle (B) Isosceles triangle

‘M Right angled triangle - (D) All the above

Gsraren GCspmd Epsar el aTaHE QuT@BHSID?
A) swuss WECasTRTD (B) <=igw uss W&ECarawd

(C) cueg Garerr wpasCameantid (D) CuwCeo samm_ i@marssib
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71.

72,

73.

You are appearing for your graduate examination and you find the question
paper not only difficult but lengthy as well you would .

(A) Protest and leave the examination hall
.(B) Ask the other examinees to agitate in the examlnatmn hall

w Answer as many question as possible

(D) Write a protest Jetter and answer the paper

prsar ULl uglysster Gsie| eT(psF Qeoddiser. elammassrer syanonaGsn(h
LU [HIb Sveme CaaTalser BeTnrargTaeyD 2 6TeTg). f;mm _

(A) o Gsuean Qauig Caiey seperwt N ( GeuaflGw Qeevelinaer

(B) Csiey erpgid oo ;r;urra;smrru_gu) Csiiey enmuiled égbl_@&uemm Qe bug
: Gammeinser

(O wybseimy s @SS EHES @S]sm_u_lmﬂuﬁrrasm

D)  gm L -Coumen sussms TSI [H alaesEhsE SevLwefluSiraer

Select odd one

(A) Star | (B) Sun

(C) Moon M Universe
a9GrsLre ganenp Coiiey delis

(A) pLssHrd (B) - @ Mwen
(C) spdlyen (D) QrugEpsd

Pointing to a photograph, Suresh said,” "She is the daughter of my
grandfather s only son." How is Suresh related to the girl in the photograph?

(A) Father o M Brother o
I\ S

(C) Cousin (D) Uncle

@ UeE UL SMES ST, DIEUET eres grégrellan @Gy waafler waer eramn &Gréy
e, ymsluLSE 2 6ot 2ibs QuetTanié@ &Er6y creLcuiT cTeane 2 ney Wpenm?

A spHeg (B) &Csngyi
(C) geamedL sCargrT (D) wrwor

MHTY 5985
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74. Statement: A large number &f people in ward X of the city are diagnosed to be
suffering from a fatal malaria type.

Courses of Action:

1. The city municipal authority should take immediate steps to carry out
extensive fumigation in ward X,

II.  The people in the area should be advised to take steps to avoid mosquito
bites.

(A) Only I follows

(BY  Only II follows

(C)* Neither I nor II follows
Both I and IT follow

SO0 @M BEISHL 10 UGl Mg 26Tl fls wEsET WELNUT STLIEFWTGD

urgssliul perargns saLpluiu®dmg.

QSTLIT bL_cug dens -

L pepacd 10 gl aurTer LmsGurl () &&sn Qeiiw 2 LGNS Hiouly &ens

T (H&E Gouant(HILb.

II.  @iugdle oder wasdr BRISmT QE1F &g &SI Bmes BLeigsens
THSGLOUY &S EHEES ety cuLpmis Ceuer(Hib.

A) T wl@w 9emwnp Ceuam(Hid

B) 11 v Eb Qerubn Cauetor(f b

©€) I sdag I Qarun Geveamrig Liflerency

D) T wpmb IT Gemnp Ceuamr(HLd

75.  If white is called blue, blue is called red, red is called yellow, yellow is called
green, green is called black, black is called violet and violet is called orange,
what would be the colour of human blood?

(A) Red (B) Green

 Yellow (D) Violet
Cleuatener Bmgens Bevlb cremmid, e Hipgens Heuliyy erammyn, Fleutiy ‘r_ﬁ]g)g'smra_; LDEREET
ETEIMID, LEhEET Fingans LiFens TEMILD, LSMF BipSms smiliy eremIb, SNy Bimsms
BB STAIPID, 2EN BDSens 2T araD, H@PESTD walls GrEsD hs Hpwors

GG,
(A Aeuiy : (B) uwéens
(C)  wergar (D) eagn
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7.

10.

11.
12.

13.

MHTY 5985

Each question has four responses (&) © and (. You have to select ONLY ONE correct
answer in the OMR Answer Sheet. In case you feel that there are more than one correct
answers, mark only the answer which you consider the most appropriate. In any case, choose
ONLY ONE answer for each question. E.g., If for any question, B is the correct answer, you
have to shade as follows:

X XCX6) BRI

The Question Booklet is printed in four series viz., [A] [B] [C] & [D]. The name of the series is
printed on the top of the Question Booklet. Mark and shade your correct Question Booklet
series [A] / [B}/ [C] / [D] cafeful]y in the OMR answer sheet by darkening the appropriate
circle without fail. In case of any wrong entry of Booklet series or discrepancy in determining

the exact booklet series, then, in all cases your Answer Sheet will be invalidated.

You should not remove or tear off any sheet from the Question Booklet. You are not allowed to
take the Question Booklet and the Answer Sheet out of the Examination Hall during the time
of examination. You are permitted to take the Question Booklet only after the Examination is

completed.
Do not write anything in the Question Booklet, except in the space provided for Rough work.

Failure to comply with any of the above instructions will render you liable for action or
penalty as the High Court may decide at their discretion. ‘
Using Whitener / Blade / Eraser or any kind of tampering to change the answers on OMR

answer sheet will lead to invalidation.

PART C is set in both English and Tamil. If there is any inconsistency between English and

Tamil version, English version shall prevail.




